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‘The figures in the margin indicate full marks
for the questions.

~ Answer either in English or in Assamese.

1. Choose the correct answer : l><1'0==10'
% et A Svedt @ |
(a) The relationship between a banker and
customer is - » |

R W AT TG T 2 3
(i) That of a debtor and creditor -
AR S S
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(ii) That of creditor and debtor
- oG I C'FIW
' (m) Primarily that of debtor and creditor.
A fFOIE (I S ANSAMR |
(b) To constitute a person as a customer :
o I AT Ryt ARafe = ¢
(i) There must be frequency of transaction

(ii) .There must be of a banking transaction

| R S O
- (iii) There must be sort of an account.
R com oR ot AR wifR

s (c) The balance of a joint account in the name
of x, y and z should be pald by the bank
“on the death of x : .

x-aggﬁﬁff © x, y SIF z ANS I35t (e 7Fpisie
T B (@ I e RT3

(i) To the legal representative of x |
x3 Sizwers efefiEe |
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(ii) To y and z
VARSI AR
. (iii) Legal representative, of x, y and z.

X, y 9% z-3 Wiz eAfefies |

(d) In the case of negotiable,insu'ument which
person generally gets a good title :

WG AETS PG YW RS
Seweg g it Reafbe =
(i) Finder of the lost instrument
g @R e IE
(ii) Holder of stolen inst_rumé_nt
ER @t s a9
(iii) Holder in due co‘ur:se.v
RS 45|

(¢) The reasonable period allowed in India for
Presentation of a cheque is : |

CIRS(s @F© 63 T AT e ios s
e 3 ‘

() 1 year
Q@ K
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.,(ii) 9 months
- (i) 3 months
(D The safest form of crossmg SRR
- }mﬂ@ @'«*n"aﬂ S = 3 |
" (i) - General crossing
+ ARSI R
(ii) Special crossing
RoROE @I
(iii) A/c payee crqssing.
it RtorS (R |
(g) A collectmg banker is gwen statutory
. protection’ only ‘when he acts as :

m@l@ﬁi@mﬁfwmwwg
@Rt coe s

(i) A holder
o T
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(ii) A holder for vaI;le :
GO TR 4

(iii) An agent. |
qu oRRR|

(h) A Banker’s iien is:

RN SR N TG T ¢

O General lien
MRS g A T

- (ii) Particular lien The i

Roew wféeeis 1 %9

(111) Negative lien. | ‘
AN gy A wu, |

(i) ‘Which of the followmg market is known as
" short term loan market ? |

W@mﬂsmwwﬁw%m

' (1) Call ~money market

wﬁqmm
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_ (ii) Treasury bill market |
T Rel e
(iii) Money market.
» = eS|
(i) The biggest constraints in E-banking is
E-QRrm 7w W e 8
(i) Start up cost
4T T
(i1) Trading cost
'l ] I TI
- (iii) Security cost.

T |

2. Answer any five of the following :  2x5=10
ﬁm@mﬁa Reaien Hoobe Bex fa ¢

(a) Define the term ‘banker’ as per Bankmg
- Regulation Act, 1949.

5583 o RALR Ao wiEw Wﬁ R
et fm |
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(b) Give the meaning of E-banking: .
- wd ot }

(c) - Deﬁne Non-Performing ~Asset.
SRS T e o |

(d) Who is known as collecting banker..
HRALII [T A 2

(e) What is bank balance sheet ?
@I Tgesia I B @ 2

(f) What is’ ébeéiné ‘of a cheque ?
GF QI @UFT T AW T2

(g) Name any four négbtiéble instruménts.' ,

R Rk zoeew@es wieem [ fBen

'(h) What is ga;:nishee order ? -

AR wiw Be o
3. ‘Answer any four questions of the following in
about 200 words each : . 5%4=20.

ﬁﬁﬁﬁqoomwmﬁm@wﬁﬁmm

(a) Explain thé basic . principles of commercial
Jbanking. -

ﬂﬁf@%@@amﬂ%maﬁwn
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~ (b) Discuss the procedure of oj)ening a bank
account in the name of partnership firm

B I LA g i i DR L = BB 1 e ey
AGORR SN F - :

(c) Briefly explain the dlfferent fonns of bankmg
~ system. : :

@WWWWWWI

(d) Dlﬁ‘emqtlate betWeven; a pheque and a Bank
‘draft. -

G 5T A G AT W._mﬂﬁs T%r«‘nl
(e) ..What are the spemal features - of banker’s
lien ? :

@ﬁmﬁmmﬁsﬁw '

(f) Discuss the meaning. and significance of
liquidity. ’ '

'FWWQI/W@WWWI _
(g) State the modern functions of a bank

m@mm@am@aw@u .
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Answer any four of the followmg questlons in
_ about 600 words each : -

AfSBI voobt xr g e R- e 5if et

(a) Discuss the rights of banker relating to -

5+5=10
@mﬂ@ﬁ'«w @WW@HWWW
() Right to set-off" .
Zoto fevif witeiR

(ii) Approﬁriation | of* payment.
| Or / §9dl

Explain the circumstances under Wwhich the
‘banker-customer relationship terminateg. 10

@ &R ARRe @ R AT w57
WWWWWI

(b) What is private sector bank ‘? Dlstlngulsh.
between public sector bank and Private sector

* bank. B 2+3_1o‘
afﬁ?ﬂwmﬁ @%ﬁ?m‘l‘@ﬁ‘ AR T
arﬁ?ﬂ@%a R WA NPRE Srapy =y |
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~ (c) Discuss the different types on loans granted :

by- a banker to a customer. 10
AL RCT ALK [few aiq IPnE - -
ﬁm Al 3 |

. (d) Write notes on (any two) 1 5%x2=10

LRt Bl (R @t wht) ¢

(é)

(i) Doubled crossing

139 [RFH

(ii) Capital adequacy norm

CIEEH AR et

(iii) Hypothecation

~ (iv) Banker’s Book Evidence Act.

@RF I o4 ZA |

.Mentlon the statutory protection granted to
the collecting banker under the ‘Negotiable
Instrument Act, 1881. : 10
By B TWBIQN] T wizag  wfS
RIS (IS Tzt ﬁfmwm@w amzqu
e TR
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(f) Define endorsement. What are the different
kinds of endorsement ? Discuss the requisites
of a valid endorsement. 2+4+4=10

spbicee T St faat | RH et b s 2
@4 ORI ST FAPRZ ST 4|

Or / 911

Discuss the sound ‘investment principles of
a bank. - - 10

@R g REEEN T ST < |
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